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SECTION -A

There are FOUR questions in this section. Answer any THREE.

1. (a) Write down the purpose of Structure Plan. Why the conventional method of master

planning is insufficient for guiding the development control of fast growing cities. (10+5=15)
(b) Describe about the barriers for realiiing betterment fees from beneficiaries III

Bangladesh. (8)

(c) What is "replotting" and "contribution" in land readjustment projects? (6)
(d) List the traffic related factors that are necessary for making the proposal of an urban

renewal plan. (6)

2. (a) How does the site and service scheme method increase the private investments in

housing? Describe with necessary examples.

(b) What is zoning? Do you prefer complete segregation of different land uses in

different zones on a mixed land use zoning system? Justify your answer with necessary

examples.

(c) How can you delineate the catchment area of an urban center in preparation of a

master plan?

(d) Write about the importance of planning standards in land use planning process.

(7)

(2+8=10)

(10)

(8)

3. (a) Write about the interventions that are necessary for upgrading low income settlement

areas. "Different case studies of urban upgradation process suggest that the direct

recovery of infrastructure investment from beneficiaries is not feasible in this method"

- explain the statement. How can such method recover their cost of investments from

infrastructures? (6+5+ 12 23)
(b) Which problems generally necessiate for having an urban renewal process in detail

area planning? (12)

4. Write short notes:

(a) Classification of local plans,

(b) 'Working procedure for Land Readjustments,

(c) Application of density zoning,

(d) Meaning of development,

(e) Demerits of site and service scheme method.
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SECTION-B

There are FOUR questions in this section. Answer any THREE.

5. (a) Four perspectives are considered for land use information-briefly discuss these

perspectives. (23)
(b) In land use design process, which order would you follow to design each category of

land uses? (12)

6. (a) The tasks for designing residential areas includes a number of steps- give a brief

description of the process. (24)
(b) Which residential design concept focuses on interaction between land use and transit

system? Discuss the key features of this concept. (11)

7. (a) What do you understand by the term "imaqeability" ofa city? (4)

(b) In case of Dhaka city, which elements of city image are more vivid compare to other

- elaborate your answer with relevant examples.

(c) The compact city is an urban planning concept which promotes relatively high

residential density with mixed land use. Do you think Dhaka satisfies all the

characteristics of compact development? Explain with necessary example.

(17)

(14)

8. (a) Define the terms "Ecological footprint" and "Ecological Overshoot". (8)

(b) How the ecological footprint measure can guide the policy makers while planning

for a city?

(c) Explain why the land use design and the development management plan should be

mutually supportive?

(d) It is very difficult to conserve flood flow zones and agricultural land of Dhaka.

Which strategies can be adopted to benefit and encourage owners of flood flow' zones

and agricultural land?

(8)

(8)

(11)
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SECTION-A

There are FOUR questions in this section. Answer any THREE.

1. (a) Explain the difference between the public good and publi~ provision of a private '

good? (10)

(b) Consider a public good "a dam designed to control flooding". Assume that only three

people Mr. 'A', Mrs. 'B' and Mr. 'C' benefit from the dam. Their demand equations

(marginal benefit equations) and the marginal cost are given: (25)

p= 100-3 QA

P = 180- 5 QB
P = 240- 6 Qc

MC=TK.500

Find out the-efficient level of output (height of the dam).

2. (a) Explain 'benefit' and 'ability to pay' approaches to taxation. (10)

(b) What are the desirable characteristics ofa tax system? (10)
(c) Define 'direct tax' and 'indirect tax' with examples. Explain different types of direct

taxes. Write short notes on "tax structure of Bangladesh". (5+5+5=15)

3. (a) What do you mean by externality? Explain different types of externalities with

examples. (15)

(b) Explain graphically that there is under production and over production of any

commodity in the presence of positive externality and negative externality respectively.

How can the efficient output be achieved in the presence of externalities in a

competitive market? (20)

4. (a) How can you measure graphically and mathematically the welfare cost of tax

imposition in case of constant cost industry and increasing cost industry? (15)

(b) "When an excise tax is levied on a producer, the more inelastic the supply curve, the

. more tax burden on the producer and less burden on the consumers", do you agree with

the statement? Why or why not, explain. .(20)
Contd P/2
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SECTION-B

There are FOUR questions in this section. Answer any THREE.

5. (a) What is deficit financing? How are income and employment increased with the help

of deficit financing in a developing country like Bangladesh? (15)

(b) Explain the factors deterri1ining the safe limit of deficit financing. (20)

6. Suppose you are one of the planners of.Bangladesh government. You are asked to

recommend some policies for the national budget of the fiscal y.ear 2013-2014 with a

view to developing Dhaka city. What will be the implications of your policies? (35)

7. (a) What do .you mean by fiscal policy? (5)

(b) Explain the objectives of fiscal policy. (20)

(c) Explain the role of public borrowing in economic development of a developing

country like Bangladesh. (10)

8. (a) What are the main sources of government revenue? What new sources do you

suggest for raising more revenue for government? (20)

(b) Explain the efficient provision of private goods. (15)
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SECTION-A

There are FOUR questions in this section. Answer any THREE.

1. (a) Describe the techniques applied for contrast manipulation. (10)

(b) State the issues to be considered for choosing remotely sensed image for change

detection. Describe the techniques used for detecting change between two remote sensing

images of the same area. (5+15=20)

(c) Differentiate between sun synchronous satellite and geo-stationary satellite. (5)

2. (a) What are the advantages of using SPOT-4 data over LANDSAT-7 data? In which

cases is it be better to use LANDSAT -7 instead of SPOT -4 data? (10)

(b) Differentiate between push broom scanner and whisk broom scanner. (8)

(c) An agricultural land classification has been performed where three categories of land

have' been identified, namely, potato, wheat and sugar beet. Subsequently, the

classification result is being evaluated by means of a field survey. All categories of land

comprised 1,00,000 pixels in total, of which 15,000 pixels were correctly classified as

potato. The training set data offered 8,750 pixels of sugar beet and 6,000 pixels of potato

which should have been classified as potato and sugar beet respectively. The classifier

provided 45,000 pixels of wheat and 30,000 pixels of sugar beet in total whereas the

training set data provided 50,000 pixels of wheat in total. Producer's accura')y of potato

and usds accuracy of wheat were found to be 60% and 90% respectively. Find out the

missing values of the error matrix and calculate (i) producer's accuracy and user's

accuracy forrest ofthe categories (ii) overall accuracy. (12)

(d) Briefly state the significance of producer's accuracy and user's accuracy in land

classification process. (5)

3. (a) Briefly describe the ways of how electro-magnetic energy interacts with ~e atmosphere. (20)

(b) Differentiate between active sensor and passive sensor. Describe the two most widely

used active sensor systems. (5+10=15)
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4. Write short notes on the following (any five):

(i) Radiometric resolution

(ii) Temporal resolution

(iii) Unsupervised classification

(iv) Spectral ratioing

(v) Spatial filtering

(vi) Criteria of choosing remote sensing image

SECTION-B

There are FOUR questions in this section. Answer any THREE.

5. (a) Discuss the two structures to store, analyze and represent real-world data in GIS with

neat sketch.

(b) Discuss with an example the raster overlay technique to derive suitable land for a

development purpose. Draw a schematic diagram to explain it.
~.

(c) What do you mean by 'accuracy' and 'resolution'?

6. (a) Write down the differences between 'identity' and 'intersect' overlay operations of GIS.

(b) What do you mean by interpolation techniques? List the types of interpolation techniques.

(c) Explain with an example the buffer analysis performed in GIS.

7. (a) What is meant by~'perforated polygon' and 'fragmented polygon'?

(b) What is Euler function? Explain the types of analysis can be performed using Euler

function.

(c) Illustrate the different types of network analysis performed in GIS.

8. Write short notes on the followings:

(a) Sliver poly

(b) Tessellation

(c) Sinuosity

(d) Spatial arrangement

(e) Elongation ratio

(5x7=35)

(14)

(14)

(7)

(15)

(10)

(10)

(10)

(15)

(10)

(5x7 35)
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SECTION-A

There are FOUR questions in this section. Answer any THREE.

1. (a) What do you mean by 'Area Ratig.H'Method' of population projection? (5)

(b) A transport planner in Dhaka city is exploring the relationship between travel length

and associated delay while travelling by bus in arterial roads. A rand9m sample of 10

travel routes is selected and the data are given below:

Travel length (inkm) 10 9.5 12 25.2 15 7.8 18 6.6 20 24.5

Delay (in min) 34 25 40 65 44 20 53 10 54 62

(i) Determine the value of regression co-efficient 'a' and 'b'.

(ii) Calculate the value of 'co-efficient of correlation' and 'co-efficient of

determination' and interpret the value of 'co-efficient of determination'.

(iii) Faisal have travelled 17 km long route by bus from his home to his university.

Predict the delay for his travel and construct a 95% prediction interval of your

estimate.

2. (a) What are the assumptions of linear regression model?

(b) Samples often male applicants and eight female applicants are randomly selected to

determine if there is a difference between the two groups in total score obtained in

admission test of a renowned public university in the year 2012. Each applicant is

evaluated out of 100 marks. Test the hypothesis with 10% level of significance.

Applicants Total Scores

Male 68 72 78 83 84 85 86 90 96 99

Female 71 74 79 80 82 85 86 88

Contd P/2
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3. Following table shows population data of a small union ofNoakhali district according to
gender and age cohort. Assume there is no migration, survival rate of new born children

is 95% and 45% of the total birth are female. (35)
Male ('000) Female ('000) Birth ('000)

Cohort Age Population Death Population Death (2001-2011)
(2001) (2001-2011) (2001) (2001-2011)

1 0-9 1200 90 1000 100 0
2 10-19 850 50 900 80 200
3 20-29 900 60 810 50 450
4 30-39 710 100 750 90 280
5 40-49 600 85 590 70 90
6 50-59 500 70 520 65 0
7 60+ 700 250 670 290 0

In this union, government has undertaken a program to dispense free academic books to

the people belong to age group 10-19.Project the number of total population who will

be eligible for this facility in the year 2021 if 90% of the total population of age group

10-19meets the criteria.

4. Bangladesh Road Transport Corporation (BRTC) has gathered <;lataon the number of
passengers who have travelled in its bus services during each of the last 6 years.

Year 2005 2006 2007 2008 2009 2010
Passengers (x 10,000) 3.5 4.2 4.0 3.9 3.8 3.6

(a) Find the linear estimating equation that best describes these data. (15)
(b) Calculate the 'percent of trend' for these data. (7)
(c) Calculate the 'relative cyclical residual' for these data. (5)
(d) Plot the percent of trend and give a summary of the position in which BRTC finds

itself. (8)

SECTION -B
There are FOUR questions in this section. Answer any THREE.

~5. A sample of 40 observations is selected from one population. The sample mean is 102
and the sample standard deviation,is 5. A sample of 50 observations is selected from a

second population. The sample mean is 99 and the sample standard deviation is 6.

Conduct the following test of hypothesis using the 0.05significance level:

Ho : J.ll = J.lz

Ha : J.lI *- J.l2

(a) Is this a one-tailed or a two-tailed test? (05)
(b) What is the decision rule? (10)
(c) Compute the value of the test statistic. (15)
(d) What is your decision regarding Ho. (05)

Contd ; .. P/3
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6. The mayor of a small town claims that his poverty reduction programs have been able to

reduce the percentage of poor households in the city. When he took office about 4 years

ago 80 percent of the households in the town were poor. But now it is less than 80

percent. A researcher wanted to test the mayor's claim. He took a sample of 2000

households and found that 1550 households were poor. Using the researcher's data

conduct a test of hypothesis.

(a) State the null and alternate hypothesis.

(b) State the decision rule. --

(c) Compute the value of the test statistic.

(d) What is your decision regarding the claim of the mayor (Use a = 0.05)?

7. The following table shows the price of apartments (in thousands of taka) per square foot

in three locations of Dhaka. At the 0.05 significance level is it possible to conclude that

there is a difference in the mean price of apartments?

(a) State the null hypothesis and alternate hypothesis.

(b) Calculate the SST, SSE and SStotai.

(c) Develop an'ANOVA table.

(d) Is there a difference in the mean price of apartments?

Location A Location B Location C
3 8 14
4 6 12
3 8 11
5 7 13

8. Two hundred men selected at random from VarIOUSlevels of management were

interviewed regarding their concern about environmental issues. The distribution of

respondents by their concerns is shown in the table below:

Levelof~anagement No Concern Some Concern Great Concern
Top ~anagement 15 13 12
~iddle Management 20 19 21
Supervisor 07 07 06
Group Leader 28 21 31

(05)

(10)

(15)

(05)

(05)

(15)

(10)

(05)

(a) State the null and alternate hypothesis. (05)

(b) Calculate the test statistic. (20)

(c) At the 0.01 level of significance is there a relationship between management level

and environmental concern? (10)
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.D.Jr•• ~~~.. ;! . Are. In right tall

freedom' .99 .975 .95. - " I
"., .•~., i; h~ 1 f;,*:,," I
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Values of F for F Distributions with .05 of the
Area in the Right Tail"

I ~ I ! ,,;

:e:XAMPLE: For a test at a significance level of .05 where we have 15 degrees of
•fr,eedom for the numerator and 6 degrees of freedom for the denominator, the appro-
priate F value IS found by looking under the 15 degrees of freedom column and
.proceeding down to the 6 degrees of freedom row; there we find the appropriate F
valUllto be 3.94.,

~, ,

.~c...~., . -4 ;,~....J
Degrees of freedom for numerator

c

1 2 3 4 5 6 7 8 9 10 12 15 20 24 30 40 60 120 :J;

161 200 '216 225 230 234 237 239 1241 242 '244 246 ;248 ;249 12~0 i251 ;252/253 :254.18.5 19.0 19.2 19.2 19.3 19.3 19.4 19.4 19.4 19.4 19.4 19.4 19.4 19.5 15119,519.5 195,19.510.1 9.559.28 9.12 9.01 8.948.89 8.85 8.81 8.798.74 8.70 8.66 8.64 8.6218.59 8.57r.558.537,71 6.946.59 6.39 6.26 6.16 6.09 6.046.00 5.96 5,91 5.86 5.80 5,77 5.75 5.72 5.69 5.66 5.636.61 5.795.41 5.19 5.05 ,4.954.88 4.824.77 4.74 4.6~ 4.62 4.56 4.53 4.5014.46 4,43 4,40 4.37
5,99 5.14 4.76 4.53 4.39 4.28 4.21 4.154.10 4.06 4.00 3.94 3.87 3.84 3.81 3.77 3.7413,703.675.59 4.74 4.35 4.12 3.97 3.87 3.79 3.733.68 3.643.57 3.51 3.44 3.41 3.38 3.34 3.30

1
3,27 3.235.32 4.464.07 3.84 3,69 3,583.50 3,44 3.39 3.353.28 3.22 3.15 3,12 3,08 3.04 3.01 2,97 2,935.12 4.263.86 3.63 3.48 3.373.29 3.23 3.18 3,14 3.07 3.01 2.94 2,90 2.86 2.83 2.79 2.75 2.714.96 4.10 3.71 3.48 3.33 3.22 3.14 3,07 3.02 2.98 2,91 2.85 2.77 2.74' 2.70 2.66 2.62 2.58 2.54

4.84 3.98 3.59 3,36 3.20 3.09 3,01 2.95 2.90 2.85 2.79 2.72 2.65 2.61 2.57 2.53 2.49 2,45 2.40: 4.75 3.89 3.49 3.26 3.11 3,00 2.91 2.85 2.80 2.75 2.69 2.62 2.54 2,51 2,47 2.43 2.38 2.34 2.304.67 3.81 3.41 3.18 3.03 2.92 2.83 2,77 2.71 2.67 2.60 2.53 2,46 2.42 2.38 2.34 2.30 2.25 2.214.60 3.74 3.34 3.11 2.96 .2.85 2.76 2.70 2.65 2.60 2.53 2.46 2.39 2.35 2.31 2.27. 2.22 2.18 2.13' 4.54 3.68 3.29 3.oa 2,90 2.79 2.71 2.~4 2.59 2:54 2.48 2.40 2.33 2.29 2.25 2.20 2.16 2,11 2.07
4.49 3.63 3.24 3.01 2.85 2.74 2.66 2.59 2.54 2,49 2,42 2.35 2.28 2.24 2.19 2.15 2.11 2.06 2.014.45 3.59 3.20 2.96 2.81 2.70 2.61 2.55 2.49 2.45 2.38 2,31 2.23 ;;:.19 2.15 2.10 2.06 H1 1.96,.'441 3.55 3.16 2.93 2.77 2.66 2.58 2,51 2,,46 2.41 2.34 2.27 2,19 2.15 2.1.1 2.06 2.02 1.97 1.92: 4:3$ 3.52 3.13 2.90 2.74 2.63 2.54 2.48 2.42 2.38 2.31 2,23 2,16 2.11 2.07 2.03 1.98 1.93 1.88. 4.35 3.49 3.10 2.87 2.71 ~:60 .2.51 2:45 2.39 2.35 2.~8 2..20 2.12 2.08 2.04 r99 as 1.9q 1.84

: 4.32 3.47 3.07. 2,84 2.68 2.57 2.49 2.42 2.37 2.32 2:25 2.18 2.10 2,05 2.01 1.96 1.92 1.87 1.81.•. ao 3.44 3.05 2.82 2.66 2.55 2.46 2.40 2.34 2.30 2.23 2.15 2.07 2.03 1.98 1.94 1.89 1.84 1.78. 4:28 '3.42 3.03 2.80 2.64 2.53 2.44 2.37 2.32 2.27 2.20 2.13 2.05 2,01 1,96 1.91 1.86 1.81 1.76.4.26 3.40 3.01 2.7-8 2.62 2.51 2,42 2.36 2.30 2.25 2.18 2.11 2.03 1.98 1.94 1.89 1.84 1.79 1.734.24 3.39 2.99 2.76 2.60 2.49 2.40 2.34 2.28 2.24 2.16 2.09 2.01 1.96 1.92 1.87 1.82 1.77 1.71
, '4.1:7 3.32 2.92 2.69 2.53 2.42 2:33 2:27 2.21 2.16 2.09 2:01 1.93 1.89 1.84 1:79 ~.i'4:1.68 1:'62'4.08 3.23 2.84 2.61 2.45 2.34 2.25 2.18 2.12 2.08 2.00 1;92 1.84 1.79 1.74 1.69 1,64 158 1.514,00 3.15 2.76 2:53 2.47 2.25 2.17 2.102.04 1.99 1.92 1.84 1.75 1.70 1.65 1.59 1,53 1.47 1.39

3.923.072,68 2.45 2.29 2.18 2.09 2.02 1.96 1.91 1.83 1.75 1.6& 1.61 1.55 1,501.43 1.35 1.25
3.84 3.00 2.60 2.37 2.21 2.102.01 1.94 1.88 '.83 1.75 1.671.57.1.521.46 1.391.321.22 1.00.

".: I ", .. " ',. : .. ,'..

• SouI):8: M.,Merrington and O. M.Thompson, Biometrika, vol. 33 (1943).'
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'Values of F for F Distributions with .01 of the
Area In the Right Tall.

10.5

EXAMPLE: For a test at a significance level of .01 where we have 7 degrees of free-
dom for the numerator and 5 degrees of freedom for the denominator, the appropri-
ate F value'ls'found by looking under the 7 degrees of freedom column and pro-
ceeding down to the 5 degrees of freedom row; there we find the appropriate F value
to be 10.5. ,:; i:

.j
I

d
('I. '" .

. ,--.., .... , ~'.... ~.•-, .\.-._!.~-

Degrees of freedom for numerator

1 2 3 4 5 6 7 8 9 10 12 15 20 24 30 40 60 120 :.c.

:: ~

~:i

;

9' €.35i:j
99.~
~:3.1
13.5
9.02

8.88
5.65
4.86
4.31
3.91

3.60
3.36
3.17
3.00
2.87

2.75
2.65
2.57
2.49
2.42

2.36
2.31
2.26
2.21
2.17

2.01
1.80
1.60

1
'1.88
1.i):) ,

4.052 5.000 5.403. 5.625 5,764 5,859 5,928 5;982 6,023 6,056 6,106 6,157 6,209 6,235 6;261 6,2871 ~.313 6,33
98.5 99,0 99.2 99.2 99.3 99.3 99.4 99.4 99.4 99.4 99.4 99.4 99.4 99.5 99.5 99.5

1

99.5 99.5
34.1 30.8 29.5 28.7 28.2 27.9 27.7 27.5, 27.3 27.2 27.1 26.9 26,7 26.6 26.5 26.4 26.3 26.2
21.2 18.0 16.7 16.0 15.5 . 15.2 15.0, 14:8 " 14.7i 14.5 14.4 14,2 14.0 13.9 13.8 13.7 13.7 13.6
.16.3 13.3 12.1 11.4 11.0, 10.7 10.5 10.3 10.2" . 10.1 9.89 9.72 9.55 9.47 9.36 9.29 9.20 9.1~

13.7 10.9 9.78 9.15 8.75: 8.47 8.26 8.10 7.98 7.87 7.72 7.56 7.40 7.31 7.23 7.14 7.06 6.97
12.2 9.55 8.45 7.85 7.46 7.19 6.99 6.84 6.72 6.62 6.47 6.31 6.16 6.07 5.99 5.91 5.82 5.74
11.3 8.65 7.59 7.01 6.63, 6.31 6.18 6.03 5.91 5.81 5.67 5.52 5.36 5.28 5.20 5.12 5.03 4.95
10.6 6.02 6.99 6.42 6.06' 5.80 5.61 5.47 5.35 ' 5.26 5.11 4.96 4.81 4 ..73 4.65' 4.57 448 4.40
10.0 7.56 8'.36 6.99 5.64 5.39 5.20 5,06 4.94 4.85 4.71 4.56 4.41 4.33 4.25 4.17 4.08 4.00

9.65 7.21 6.22 5.67 5.32: 8.07 4.89" 4.74 4.63 4.54 4.40 4.25 4.10 4.02 3.94 3.86 3.18 3.69
9.33 6.93 5.95 5.41 s.o6 4.82 4.64 4.50 4.39 4.30 4.16 4.01. 3.86 3.78 3.70 3.62 3.54 3.45
9.07 6.70 5.74 5.21' 4.86 4.62 4.44 4.30 4.19 4.10 3.96; 3.82 3.66 3.59 3.51 3.43 3.34 3.25
8.66 6.51 5.56 5.04 4.70 4.48 4.28 4.14 .. 't.03: 3.94 3.80. 3.66 3.51 3.43 3.35 3.27 3.18 3.09
8.68 6.36 5.42 4.89 4.56i 4.32 4.14 4.00 3.89 3.80 3.67 3.52 3.37 3.29 3.21 3.13 3.05 2.96

8.53 6.23 5.29 4.77 4.44 4.20 4.03 3.89 3.78 3.69 3.55 3.41 3.26 3.18 3.10 3.02 2.93 2.84
8.40 6.11 5.19 4.67 4.34: 4,10, 3.93 3.79 3.68 3.59 3.46 3.31 3.16 3.08 3.00 ' 2.92 2.83 2.75
8.29 6.01 5,09 4.58 4.25: 4.01 3.114 3.7-1.' 3.60, 3.51 . 3.37, 3.23, 3.08,: 3.00 2,92 2.84 2.75 2.6&
8.19 5.93 5.0t 4.50, ~.17 3.94 3.77 .3.63, 3.52. 3.43 . 3.30 3.15 3.00 ,2.92 2.84 2.76 2.67 2.58
8.10 5.85 4.94 4.43, '1.10: 3.87 ' 3.70 3.56 3~46' 3.37 . 3.23 3.09 2.94 2.66 2.78 2.,69 2.61 2.52

"; :-, , ,
8.02 5.78 4.87 4.37. 4.04:, 3.81 3.64, 3.51; 3.40' 3.31 3,17 3.03 2.88 2.80 2.72 2.64 2.55 2.46
7.95 5.72 4.82 4.31 3.99' 3.76 3.59 3.45 3.35 3.26 3.12 2.98 2.83 2.75 2.67 2,58 2.50 2.40
7.88 5.66 4.76 4.26 3.94 3.71 3.54 3.41 3.30 3.21 3.C7 2.93 2.78 2.70 2.62 2.54 2.45 2:35
1.82 5.61 4.72 4.22 3.90 3.67 3.50 3.36 3.26 3.17 3.03 2.B9 2.74 2.66 2.58 2.49 '2.40 2.31
7.77 5.57 4.68 4.18 3.B6 3.63 3.48' 3.32 3.22 3.13 2.99 2.85 2.70 2.62 2.53 2.45 2.36 2.27

., .
7.56 5.39 4.51" 4.02 3.70 3.47 3.30' 3.17 3:07' 2.98 2.84 2:70 2.55 2.47 2.3\) 2:30 2.21, 2.11
7.31 5;18 4.31 3.83 3.51 3.29 3.12 2.99 2.89: 2.80 2.66 2.52 2.37 2.29 2.20 2.11 2.02 1.9~
7:08 4.98 4.13 3.65 3.34 3.12 2.95 2:82' 2:72 2.63 2.50 2.35 2.20 2.12 2.03 1.94 1.84 1.73
6.85 4.79 3.95 3.48 3.17 2.96 2.79 2.66 2.56 2.47 2.34 2.19 2.03 1.95 1.86 1.78 1.66 1.53
6.Cl3 4.61 3.78 3.32. 3.02 2:80 2.64 2.51, 2.41, 2.32 2.18 2,04 1.88 1.79 1.70 1.59 .1.47 1.32
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Areas In Both Talis Combined for Student's t Distribution,.

•

.•.
-t = 1.729 +t = 1.729

EXAMPJ.E: To find the value of t which correspondS to an area of .10 In both tailS of
the distribution combined, when there are 19 degrees of freedom, iook under the .10
column, and proceed down to the 19 degrees of freedom row; the appropriate tvalue there Is 1.729.

Area In both tail. combln.d
Degr••• of
freedom .10 .06 .02 ...• .01

1 ' 6.314 12.706 31.821 63.6572 2.920 4.303 6.965 9.9253 2.353 3.182 4.541 5.8414 2.132 2.776 3.747 4.6045 2:015 2.571 3.365 '4.0326 1.943 2.447 3.143 3.7077 1.895 2.365 2.998 3.4998 1.860 2.306 • 2.896 3.3559 1.833 2.262 2.821 3.25010 1.812 2.228 2.764 ' 3.16911 1.796 2.201 2.718 ' 3.10612 1,782 2.179 2.681 3.05513 1.771 2.160 2.650 ,3.01214 1.761 2.145 2.624 2.97715 1.753 2.131 2.602 2.94716 1.746 2.120 2.583 2.92117 1.740 2.110 2:567 2.89818 1.734 2.101 2.552 2.87819 1.729 2.093 2.539 2.86120 1.725 2.086 2.528 2.845,21 1-.721 2.080 2.518 2.831"22 1.717 2.074 2.508 2.819' _23 1.714 2.069 2.500 2.807"24- 1.711 2.064 2.492 -2.79725 1.708 2.060 2.485 2.78726 1.706 2.056 2.479 2.77927 1.703 2.052 2.473 2.77128 _1.701 2.048 2.467 2.76329 1.699 2.045 2.462 2.75630 1.697 2.042 2.457 2.75040 , 1.684 2.021 2.423 2.70460 1.671 • 2.090 2.390 , ~.660120 1.658 1.980 2.358 2.617Normal Distribution 1.645 t.960, 2.326 2.516

• Taken from Table III of FIsher 8nd Yates, StatIttlca1 T8bIeI for BIological, AgrlclJlturlJ IIId MedIcM
Rm.rch. pub/lshed by Longman Group ltd., London (prevlou&ly P\IbII8hedby OlIver & Boyd, EdInburgh) and bypermllston of the aUlhors and publlahe7a. -
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n:.....
. .-' ..

+00

X-p.
t=--

si

df 0.10 0.D5 0.025 0.01 0.005

18 1.330 1.734 2.101' . 2.552 2,878
19 1.328 1.729 2.093 2.539 2.861"
20 1.325 1.725 2.086 . 2.528 2.845

21 1:323' . 1.721 2.080 2.518 2.831
22 1.321 1.717 2.074 2.508 2.819
23 1.319 1.714 2.069 2.500 2.807
24 1.318 1.711 2.064 2.492 2.797
25 1.316 1.708 2.060 2.485 2.787

26 1.315 1.706 2.056 2.479 2.779.
27 1.314 1.703 2.052 2.473 2.771
28 1.313 1.701 2.048 2.467 " 2.763
29 . 1.311 1.699 2.045 2.462 2.756
30 1.310 '1.697 2.042 2.457 2.750

40 1.303 1.684 2.021 2:423 2.704
60 1.296 1.671 2.000 . 2.390 2.660

120 1.289 1.658 " 1.980 2.358 2.617
00 1.282 1.645 . 1.960 -- 2,326 2.576

. 310

Proportions of Area for the t' Distributions

Areas reported below: * .

t

-00

0,025 0.01 0.005

12.706 31.821 63.657
4:303 6:965 .9.925
3,182 4.541 5,841
2.776 3,747 4.694

. 2.571 3.365 4.032

2.447 3.143 3.707
2.365 2.998. " 3.499
2.306 2.896 3.355

"2.262 2,821 3.250
" 2.228 2.764 3.169

2.201 2.718 3.106
2.179 2.681 3.055
Z.160 " 2.650 3.012
2J45 2.624 2.977
2.131 2.602 2.947

2,120 2.583 2.921
2,110 2.597 2.898

haded area to represent 0.05 of the total area of 1.0, value of t with 10 degrees of freedom is 1.8 I 2
e III of Fisher and Y~tes, Statistical Tables for Biological. Agricultural and Medical Research, 6th ed., 1974,'
an Group Ltd., London (previously published by Oliver & Boyd, Edinburgh); by permission of the authors'
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L-2rr-2//URP .Date: 06/07/2013
BANGLADESH UNIVERSITY OF ENGINEERING AND TECHNOLOGY, DHAKA

L-2rr-2/ BURP Examinations, 2010-2011

Sub: ARCH 233 (Landscape Planning and Design)

Full Marks: 140 Time: 3 Hours
USE SEPARATE SCRIPTS FOR EACH SECTION

The figures in the margin indicate full marks.

SECTION-A
There are FOUR questions in this section. Answer Q. No. 1 and any TWO from the rest.

1. Write notes on the following (Any Four)

(i) Albedo (ii)
(iii) Courtyard Landscaping (iv)
(v) Wind Tunnel.

Exotic Landscaping
Top Soil

(6x4=24)

2. (a) How can landscaping be applied for environmental control? (9)
(b) Describe the salient features of Moghul Gardens. . (14)

3. (a) What do you mean by the terms 'environment' and 'Ecology'? (8)
(b) Explain 'Physical Environment', 'Ecosystem' and 'Ecological Balance' as they relate

to landscape. (15)

4. (a) Discuss the importance and describe the uses of water features in landscaping. (13)
(b) Describe the salient features of Japanese Landscaping. (10)

SECTION-B
There are FOUR questions in this Section. Answer Q. NO.5 and any TWO from the rest.

5. Write notes on the following (Any Four)
(i) Dew Ponds
(iii) Fencing
(v) Green Landscape

(ii) Biotic Garden
(iv) Niche

(6x4=24)

6. (a) Briefly discuss the background of landscape planning and design.

(b) Describe Dhaka City's present landscape scenario and suggest improvements. (8+15=23)

7. (a) Discuss the different types of veg~tation with examples and mention the purposes
they are mostly used for.

(b) Draw some ofthe different forms of trees and refer to their aesthetic qualities. (14+9-23)

8. (a) What are the three basic questions you need to ask while pursuing site investigation
for landscaping?

(b) Discuss in detail some of the elements of site analysis. (6+17-23)
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